20km

36k

2011 5 2 16 00
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*2

*3 Nal( )

*4

/

1 6ok 5 2 8 45 152
2 s6k 5 2 8 57 1.6 "2
3 ok 5 2 9 45 2272
5 ok 2 10 28 052
6 ok 2 10 48 0.6 "2
7 ok 2 10 54 052
12 P 2 12 44 017 .
13 . 2 12 30 047 .
14 T 2 11 52 047 .
15 32 2 11 25 107 o
_20 YT 2 13 02 037 .
2L o 2 13 45 267 o
22 35k 2 13 35 08" o
23 T 2 13 25 157 B
31 20k 2 10 34 5472
32 a1k 2 10 46 19.7 2
33 a5k 2 10 57 1262
36 0k 5 2 9 48 2772
37 a8k 5 2 9 37 337
38 e 2 13 37 037 N
39 (41km 2 10 06 0.7 "2
i poe 5 2 9 48 06" . NBC
12 31K 2 10 10 03" - NBC
73 T 2 13 59 07" .
73 T 2 10 26 027 . NBC
14 TR 2 11 4 017 - NBC
74 2 11 34 06 ™ .




*1 GM(

30km

*2
*3 Nal(
*4
) /
75 ™ 10 59 137
i e 10 55 027 NBC
76 ok 10 36 027
17 . 12 24 127
19 K 10 16 887 NBC
80 2k 11 26 037
80 ok 8 10 067 NBC
8L 31k 9 40 160 2 NBC
83 o 10 25 3747 NBC
84 sk 10 19 0472
85 o6k 6 00 0372
86 o3 6 00 1072
87 soken 6 00 062
101 s5km 9 17 117
103 e 1152 037
105 P 1107 06
106 aokm 10 10 042
07 g 1207 187
_108 13 06 21
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